[ Efficiency vs vertpos |
~ 0.01

.009
.008
.007
.006
0.005
0.004
0.003

................................................

...............................................

...............................................

efjcliencyys yert

..............................................

0.002f----+--- ERIRPIRE S8 IRRS Tofereeeee
0.001F- -+ feriemmmeecfefinens o A RRRRREEEE
. LR

10 0?
TP vertr (cr%)

—— DOMstep ol
(Eiend — B B Pl
Efficienq —— BENSiepsH-delaultNEWTOLDSAMPLE-relf2

~ 0.02r ; ; ; ; ;
e
Ao
014F
012
0.01
0.008
0.006
0.004
0.002
-0

......................................

e_E;cmacy_dgs \_@rt

....................................
........................

R R A O ) DA 1 | A A

Ratio

30 20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z
~ 0.0%

ST Y )
—.LO -8 6 -4 2 0 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


